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QY gv7 ifard &1

TvT Q&I 1 - 5 T Jodeh J97 ek 3T b1 & | 57 J971 b1 T 3% 20 F15] G 371 781

g =Ieq |

T97 Q&1 6 - 10 TF TP J97 @ 3] 1 &1 37 91 T ik I 40 J<) G 379 781

g =8q |

T97 Q&I 11 - 16 TF FIF J97 A 3H] 1 &1 37 F91 T ik I 100 J<) G 374
787 g1 =fET

T GEAT 17 - 21 TF P G97 Gier 37 F1 81 57 G979 &1 Jidh 3% 150 TI=c] G 379F
&1 811 =few

Tv7 &I 21 THIGA T SMERT G979 &1 ZTHT ST 37741 IT-Yfkaanr 4 ferag |

J97 G&IT 22 - 27 TF TP J97 B: 3] HT &1 57 971 T ok ST 150 T3l G 3714
787 g1 =nfET

General Instructions :

(i)
(it)

(iii)

(iv)

(v)

(vi)

(vit)
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All questions are compulsory.

Questions number 1 - 5 are of 1 mark each. The answers to these questions should
not exceed 20 words each.

Questions number 6 - 10 are of 2 marks each. The answers to these questions should
not exceed 40 words each.

Questions number 11 - 16 are of 4 marks each. The answers to these questions should
not exceed 100 words each.

Questions number 17 - 21 are of 5§ marks each. The answers to these questions should
not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your
answer-book.

Questions number 22 - 27 are of 6 marks each. The answers to these questions should
not exceed 150 words each.



1. % 0 H, TAR 2N & o AsHITaeh <ot a1 T T Fl A 9 fop e 1 s 1
STARIRT o Aqcd dTct T2 o 1 3Tf¥ek gt =1fey ?

During Nehru era, why did some political parties and groups in our country
believe that India should be more friendly with the bloc led by the U.S. ?

2. Hifguq =gaen & fHiael 3 fF=fafed § 9 frees Aga =8t fean ? 1

o [} *

(2) Tosit gufa &t o |

(b) FHMA & fogid W F9 1 i
() Taudt T Stan gfquet &1 hig T == |

) 1Y HEEIT R T hl Sl HIFA0 7= |

Which one of the following was NOT given primacy by the makers of the Soviet
System ?

(a) Abolition of private property.
(b) Society based on the principle of equality.
(¢) No opposition party to be allowed.

(d) No state control over economy.

3. U9 =i w9 § foF Seiferem @1 sfaera g5 v gt 1 sfaer 2 1

Why is it said that history of petroleum is also the history of war and
struggles ?

4.  YRAE fRam gfem 9 Fafya feam, o o sfusm s fpa 9 g fyg 92 1

How did the farmers associated with Bharatiya Kisan Union differ from the
most other farmers in India ?

5. AN (TLUEIWTA) & @S &1 Wdish fa=e () = guitan § 2 1
What does the logo on the ASEAN flag symbolise ?
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10.

59/3

e fRUE STicie (A1) o foh=gl 9R HETTehi T 3ok <301 o ALY fafET |
4xY%=2
Name any four founders of NAM and the countries they belonged to respectively.

W ‘A’ | fou T frefafead qeai ol W B’ 9 el s1edqof sie oy« 4x%=2

Y A’ WY B’

() S SN T Fee (a) TR =R fag
(i) 1967 - 1969 Th YRA & ST-FHHA (b) SIS |
(i) 1977 - 79 T 9RA & SU-FHFHA (© .9 ImE
(iv) 1952 W 1977 I YR & held T3 d) TR <4
Match the following in Column ‘A’ with those in Column ‘B’ in a meaningful
way :

Column ‘A’ Column ‘B’
(1) Head of the Commission of Enquiry (a) Chowdhary

Charan Singh
(1) Deputy Prime Minister of India from 1967 to 1969 (b) Jagjiwan Ram
(111) Deputy Prime Minister of India from 1977 - 79 (¢ J.C.Shah
(1v) Union Minister of India from 1952 - 1977 (d) Morarji Desai

RA H HRIe Hiek oH1T W@ &1 feen § Hid T9d waM TS ot fiaer 2

1 ATehel hIfST |

Assess the role of Maulana Abul Kalam Azad towards maintaining communal
harmony in India.

TSI STerTeETe] sTialerd &1 S FHe Fi 3iR Hhd T gatr ? 2

Why and how did the Mizo Movement for succession gain popular support ?

‘MM =9 @R’ 7 o1 ? 308 oo gqe@ i wreetl i b 39 ugE 2 141=2

What was ‘Operation Blue Star’ ? Why did it hurt the sentiments of the Sikh
Community ?



11. 1970 % Tk H, I & qcd §R &F 9 & Jq@ ifara o foe e 9 ? 2x2=4

What were the two major policy decisions taken by the Chinese leadership in
the 1970s ?

12. fa =afeq o qon e gfg, fava o onfefs s i %8 gufad & € 2
TRIE g ST & o AfYasd W W e @ o1 1 HA & fau o < 3™

W | 24+2=4

How do per capita income and population growth affect the economic disparity

in the world ? Suggest any two ways to reduce economic disparity between the
poor and the rich at the global level.

13. TSR0 e A9 W YR o 9&T Thi SARSAT iU | 4

Explain India’s stand on environmental issues.

14. 1Y 9ET 941 1959 U o1 WA Ul i i foarymsti ¥ fat T Hifs |

2+2=4
Distinguish between the economic ideologies of the Congress Party and the

Swatantra Party formed in 1959.

15. 9Rd U FogeTare] sTiciad & fomar & fou sert ufifeafaal = gdeqo sifsa | 39
2+2=4

Fae & T adtes gemse |

Examine the conditions responsible for the growth of Naxalite Movement in
India. Suggest ways and means to crush it.

16. THfYA srefeqaeen & 9N Aied & §@ TRl i Jedishd hifaT | 4

Evaluate the major outcomes of the Indian model of mixed economy.
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17. 9 o 91 9RA o 9 ST R0 § S R0 9 @e™ g | =9 A 1950 | fasaa
TR FHesll AR faan | 399 9RA AR = & o= Uaeias &9 9 Sl T gehadt 9
ST AT 3T R AT, 98 TeH 81 T | JE-Y&E H IR TR A =4 o T4 heH 61 G
TR R fodiy =&l T | seteTa, fassa i W& id &l e i el S-S 9
M &, 9-9Y 9RA &1 a1 off 9| fasaa & enffes =1 <o @ A 9Ra 9@
TTHIfeR TR0 A 3R 1959 H 9RA ¥ 3% IRV T 1 =T IR e fF 9w
THR 3eET dR T =19 foriet nfafafers =1 gan 2 @ )

FJUX TEU T 7TawuT i eAYd e Ufeq ae Fefatad uoat & I i

G) ‘Teed T 9 9 ity 2

(i) YRG GhR A 91 gN fassa T sesll e o o1 faie i &1 foman ?

(iii) AT ATHT 9T TSR Toesrdl IROMAT ol YR §RI qSTHITaeh TS USH Al
el qeh AEIad € ? 1+2+2=5

Two developments strained this relationship. China annexed Tibet in 1950
and thus removed a historical buffer between the two countries. Initially, the
government of India did not oppose this openly. But as more information came
in about the suppression of Tibetan culture, the Indian government grew
uneasy. The Tibetan spiritual leader, the Dalai Lama, sought and obtained
political asylum in India in 1959. China alleged that the government of India
was allowing anti-China activities to take place from within India.

Read the above passage carefully and answer the following
questions :

(1) What is meant by ‘historical buffer’ ?

(11) Why didn’t the Government of India oppose the annexation of Tibet by
China ?

(111) How far was it justified on the part of India to grant political asylum to the
Dalai Lama and thousands of Tibetan refugees ?
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18. &I & oI | ek 271§ e o1 | Jeremifd ga-1 sarel 5@t foh & o
STATYST St T 1 ArfEeh Wt i FoTelt T 2 bt off SR G ol oTe Wi
%1 &7 HiSG Tel W&l 3R TR A WIEI 1 ST i1 IE fohal | AT AT
S a1 22 o1 o Afert TRant farrrd (Taifaet) & anfw fere s & stferemisr <im
T T 3R Yokl fou MU |

FHUR {U T STavuT Sl YA feu X FeAfeiad wvel o ST i

G ‘TR fama’ (gefget) 9w i 82

(i) THfEH I TN THAG S H AR hl TR & HY T & T 2

(i) T€ a0l ford S0 9 HefYd § 2 TR 1 WRITI 61 ™[ =& IRY R ?
1+2+2=5

The value of the ruble declined dramatically. The rate of inflation was so
high that people lost all their savings. The collective farm system disintegrated
leaving people without food security, and the government started to import
food. The old trading structure broke down with no alternative in its place.
The old system of social welfare was systematically destroyed. The withdrawal
of government subsidies pushed large sections of the people into poverty.

Read the above passage carefully and answer the following
questions :

(1) What is meant by subsidy ?

(11) How did the disintegration of collective farm system lead to the loss of food
security ?

(i11) This passage is associated to which country ? Why did the government
start importing food ?
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19. SATATHIOT & I T hl qTehd B HHT AT BI-THT I1G 21 | TSHITTh T
% YR o ®9 H TF h1 AT S IS AT T THell & IR 7 39 71 § o
ff @ T fova &1 TeEifa § o ot fafy= e & o9 Hisg gt =t 8iR
GfagTeal 1 TEA © | I HMFA SR LT, T YI&T Sid 3794 A wraf &l
T TR € SR Tgd Wra-HHR 3T FeH =1 SRRl O Wid W & STal 3! el
B T 1t off Hewayul 3 g E

qEd: S HIEAI § AT ok Horea®d I i Ak H SR gaTl 8 1 319
Tl % w1 H Ay GrEnfirent Ais @ 5o 9d T T TRl &k o H
=TT 2T Tohd § |
S {CU TT 31aavuT SRt eAYdeh Ufeq aeom Fefafaa woet & ST i
() TSF & < gaitye Afad & S 9 §?

(i) TENYfTH YA e YR T S Jgd IME HIH & AT A & 2

(i) Teh STEX ! TR ¥ I LAY HhifTC foh TR0 & T &1 q1hd H If5
eIl B | 1+2+2=5

Globalisation does not always reduce state capacity. The primacy of the

state continues to be the unchallenged basis of political community. The old
jealousies and rivalries between countries have not ceased to matter in world
politics. The state continues to discharge its essential functions (law and order,
national security) and consciously withdraws from certain domains from which
it wishes to. States continue to be important.

Indeed, in some respects state capacity has received a boost as a
consequence of globalisation, with enhanced technologies available at the
disposal of the state to collect information about its citizens.

Read the passage given above carefully and answer the following
questions :

(1) What are the two most essential functions of the state ?
(1)) How do enhanced technologies enable the state to rule better ?

(ii1) Justify with the help of an example that globalisation gives a boost to the
state capacity.

59/3 8



20.

I FE WL F
T TR I el
H Tmee < |
THEY SAID
THEY’LL SUPPORT
THE GOVERNMENT

FROM OUTSIDE!

T fqU T e w1 earmyEes reaad witee qor frefafaa g % S
difSa :

() U O R 1989 H SAR T WIRR 1 YREAT i o1 ?

(i) b GRI FARA T8 THR i TH3Ydci! TR Fi hel STl o7 ?

(i) T oh! WA § H3YAdci! hi T STl hl TG hiTSIT qAT 3Tk el o M

Qﬁ%ﬂ:@"ll 1+2+2=5
Study the above cartoon carefully and answer the following
questions :

(1) Who was head of the Government formed by the National Front in 1989 ?
(1)) Why was the government formed by him called a puppet government ?

(1) Identify the puppeteers pulling the strings and the political parties they
belong to.
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59/3

(20.1)

(20.2)

(20.3)

Note :

(20.1)

(20.2)

(20.3)

FfafEd I9, shael grgaTte Uaemteiei & o I9 9&1 20 & I
WE:

1989 H U O g 9918 T8 TR 1 TEHHS hiv o1 ?

[a)

1984 AT 1989  WIRGH Tl H HiUg Ul ol fhaft-forat €
fiyedt ?

Hed AT & TaRIRET =7 of ? 1+2+2=5

The following questions are for the visually impaired candidates
only in lieu of Q No. 20 :

Who was the Prime Minister of the government formed by the
National Front in 1989 ?

How many seats did the Congress Party win in the Lok Sabha
elections of 1984 and 1989 respectively ?

What were the recommendations of the Mandal Commaission ?

10
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() 9w H Sf7 qun 18T SHI YRR 1 IMEA @I R |

(i) 9 H ArhdA i IR 2006 H T8 |

(iii) ITE W A oft TF ToAA B |

(iv) TH Q! TGS A I, 2005 H FFH(T H IgIATd JUTC] ] FIH hl Tlhid
TS T |

(v) I% <, IRA i & =l i i, WA Ed g w1 U 96 5x1=5

0 )’ 4d" 100 o 1 ud 160" 6o’ n8Q” . 70" 60"
J = ‘ > v ' e i L g
R - & 2 AR

ASIA | [WRmEm | o0 .
| ——— |
POLITICAL KSRIGED SCALE

1y T d 1 L L
ad E 80 «0* " 80" 90"
- — - . = - - -

In the given outline map of South Asia, five countries have been marked as
(A), (B), (C), (D) and (E). Identify them on the basis of the information given
below and write their correct names in your answer book with their respective
serial number of the information used and the alphabet concerned as per the
following format :

59/3 12
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SR. No. of the
Information used

Alphabet Concerned Name of the Country

() to (v)

(1) The country has experienced civilian as well as military rule both.

(1) Democracy was restored in this country in 2006.

(111) This country is still a monarchy.

(iv) The Parliament of this country voted unanimously to introduce multi-

party system in June 2005.

(v) This country is a part of India’s ‘Look East Policy via Myanmar’.

(21.1)

(21.2)

(21.3)

Note :

(21.1)

(21.2)

(21.3)

Frefafad Te shae giteaiaa udtarrfeit o fae a9 9@ 21 & e
T

IR FMifd 1 AIPKF) &1 gicient F=1 9 T IR 391 .1 9iom
Tehem ?

URA-TfREI™ o S19 AI-STd o dear Gieifad faarg sl T Shifsu |

TUTe | Teha o AU, AT STedch, STeIe aal alel i o ?
2+2+1=5

The following questions are for visually impaired candidates only
in lieu of Q No. 21.

Why was Indian Peace Keeping Force sent to Sri Lanka and to what
result ?

Explain Indo - Pak problem of sharing of river waters.

Who led the pro-democratic, largely non-violent, movement in
Nepal ?

13 P.T.O.



22. 1967 H TU Y W IAE F FHA, TN H T TG SCATall T TIET0T i | 6

SPEN

ATITARTA Rl YR TSI &l Tord faaTereTe ST =i Yo a1 8 2 for=l dF
RN 1 ITerooT HifT | 3x2=6

Examine the major changes that the country witnessed at the time of fourth
general election in 1967.

OR

Why is emergency considered to be one of the most controversial episodes in
Indian politics ? Analyse any three reasons.

23. 1947H BT YR o fawsH & forgl ©: aRomdl =1 faveryo wifs | 6x1=6
Jterar
qRd § Fifea foeh o uge =01 & YROME] &1 3Tehele hifsTu | 6

Analyse any six consequences of the partition of India in 1947.
OR

Assess the outcomes of the early phase of planned development in India.

24, TIF T FI&T TRUS i AT 1 J0M HIQ | TR a1 ST 9e&l ol fou

S 91l foRIIiYeRi | STaR Tt hifeiy | 3+3=6
3HYAT
Y% o feTT Toh-Teh STE0T SRy, GR&T i Tl <fie 78 JAIal bl JU hifeTd |
3x2=6

Describe the composition of the U.N. Security Council. What is the major
difference in the priveleges given to its permanent and non-permanent
members.

OR

Describe any three new sources of threat to security giving examples for each.

59/3 14



25.

26.

27.

59/3

"o T hTe UM o forg wfaliy 2 Uk wre fashey €111 3EeR! Qo o1 -
faRiet Torifaal @ e 39 %o o1 Nifae fag wifsm)

SREN

Tk fofen |8 o ®9 H, ST (TTHLTTA) i YfHer! 1 3Ther HIfST |

“Resistance is the only option available to overcome the hegemony”. Justify
the statement by comparing it to other antihegemony strategies.
OR

Assess the role of ASEAN as an economic association.

Hifaera 99 o=HE 4 foufed B T ? w1 ©: FRU TR Hifu | 6x1=6

AYAT
fgdta foea g5 =t Tt <Al Sitd qg 1 IRE R G A 91?7 AT HifSC |
How did the Soviet Union suddenly disintegrate ? Explain any six reasons.
OR

Why was the end of the Second World War considered to be the beginning of
Cold War ? Explain.

YA o AURR | Heifed stidier o1 T a1 1 9 wifsre {59 1 990 T
stfufram o &9 H gan s1uid ‘g=a o1 sifueRr AfufTEd, 2005 |

AYTar

3 3idRek Td oRl faamel sl o0 SRIfSIT S S0 qol heHX sl TSTHiTd i e

6

6

foemeToe 9T WA & fau STeEt € 1 3+3=6

Describe the journey of the movement for Right to Information which ultimately
culminated into an Act i.e. RTT Act, 2005.

OR

Describe the internal and external disputes responsible for making the politics
of Jammu and Kashmir continuously controversial.

15



